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The combined resistance of two identical resistors
connected in series is 8Q). Their combined
resistance in a parallel arrangement will be:
RSB | e i 7 G| FThp gL I e e ITFTL 4GP 2
CC,,( D L Q:{J‘} Z ul /S Unllrl;cgoles Which statement is true about the magnetic poles?
A single Magnetic poles do| [ 4.0 poles attract P
magnetic pole | not affect each
does not exist other
B=1A=1{ B=0usA=0"/B=14A=0 | B=0sA=1 ‘el 1 e STS b _bucels| 3
v % ) - L/l
A=1&B=1 | A=0&B=0 AZ0&B=1 | A=1&B=0 |The output of two-input NOR gate is | when:
5 4 3 2 W (3’" U:-:‘(’j Jé” "’g 4
A swgcérhgsiaply possible states:
e Iy \ ‘2 .
ey 2y Sl Ao RO PRIN o P LA
Control unit CPU Memory Momtof ! il—"ﬁévbram of any computer system is:
%!
B z A A)gg r wa}lbc,../wf(f-l/u”rb 6
AX A X z X
Generally an atom is represented by the symbol:
u"U: i@g, U’*!g/ g ' u‘{(}/gjp‘/{’: 7
Velocity Wavelength Frequency Energy Waves transfer:
9 3 Y ) o .
243 Y 26 Pkl e Jedn fitY] s
Water wave Radio wave Light wave Sound wave | Whichis4n gxample of a lmgitudinal wave?
5dB 100dB 10dB 20dB _ eS| 9
1 bel is equal to:
0 ExSU b e PN AT B YN AT
Its wavelength Its frequency Its speed Its direction | Which is not changed during refraction of light?
2 Ly e - ey ) S| 11
Watt Volt Ampere Coulomb S1 unit of electric charge is:
951 Aéd.b:‘_.ﬁd/»c.j..ffb/(olﬂc..f 12
10V 5y AV 0.5V (/(f‘/JMUVJ)LuLb'U)’”u’ -C.t'/t/(
Five joules of work is needed to shift 10C of
charge from one place to another. The potential
dlfference between the places is: ]
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10 Write short answers to any FIVE parts. -J..-.W/'?L,mégc_(}f -2
Writg two characteristics of simple harmonic motion. -é:./f@_‘-‘f‘%’tfdt/ £, -’@J‘{ 16)]
Define damped oscillations. -5‘;: oy Uf'%’@[:&'{)‘ (i)
What is the difference between regular and irregular reflection? ";,J/g;j T kel s sl | (iii)
What is the relation between focal length and radius of curvature? S Jl;; gufﬁl'%:fdfgﬁéwlﬁ@‘f ) (iv)
What is meant by magnifying power? Write its formula. &, P19 ?‘4."’/&(41)&-5' UG? W)
Draw the symbol of NOR-gate and also write its truth table. -;hdfj;f&;”:}cféét (vi)
What is the function of control grid in cathode ray oscilloscope? e ¥/l Kﬁ)a:}f o u‘_,:‘::hlgu‘;.{ (vii)
What is meant by binary variables? ﬁ;)f/i_fcf-"’d{:d/"@ (viii)
10 Write short answers to any FIVE parts. -d@&b‘!f‘?éplzlésc.(}f -3
Define intensity of sound. Write its unit. & g;g(wmg{..a /‘TJ d‘}rchsu @
Write two uses of capacitors. . U1 5 /"_}f (ii)
What is the difference in RAM and ROM memory? e OPVL sl (i)
What is photo phone? S t‘ny/uiji @iv)
Is the charge on capacitor connected in series equal? Explain. ‘..i.: =2l bl Yslry ‘/_3{;54.};?;%)’{ [_l/ )
What are variable capacitors? ‘.’uji_ngj k{( Jf‘id,_/: (vi)
What is meant by word processing? ?9.)'/1_!;—-.5:*3{5/; (vii)
What is computer? Write its two works, -’afr e é:ZJ 1 S l__f/‘.z:..I (viii)
10 Write short answers to any FIVE parts. -4@&'3}&#2‘5&4.6[ -4
~Ebe (VAL oS e Sy @
Draw the variation of direct current and alternating/curfent with time by diagram, 3
State Ohm's Law. Also write its mathematical form. NS g - Mol A G
What is the cause of electric current in electrolytes? St )‘f &)’J/"?IJJ :fﬂ:f'g‘ (iii)
What is meant by an ideal transformer? Write its power equation. -afwu&,;&ﬂ ‘.“;:I/({:, /JW’/‘{,!:‘_? 7 @iv)
Determine the direction of force when conductor is placed in magnetié figld, ?ugi_/cf u.‘.; (1S ;f}u’ Lnei/uf)&t@:’ )
What are cosmic radiations and their nature? ?‘Lg/,{urub;lufgﬁldé/;ﬁ( (vi)
Write two uses of radioisotopes. UL 3L i
Complete nuclear reactions: ;n + 2;; U>___ + +3;n éﬁf‘g 106,45 (viii)
-U,?/ 09 L1y -é{f:'pgb?ﬁc«lﬂruaéf pigd dlas
Part - II, Attempt any TWO questions. Each question carries 09 marks.
02,02 ~e b el v&ﬂgfﬁﬁgé’ 22§ Bild o ﬂg’f}"c_;,aJ,»u@u‘é./ (W) 5
Explain with the help of ray diagram the image formation, when object is placed at two different
positions infront of a convex lens. ) .
—e /g g A RELIE 3L o] -t stla g dL S L6 0omut b s 7 Yl (L)
02,02,01 e 20 UL ) S did 3t )
Water waves in a shallow dish are 6.0cm long. At one point the water moves up and down at a rate
of 4.8 oscillations per second. (i) What is the speed of the water waves? (ii) What is the period of
the water waves? . P
01,01,01,01 S :,J/'Agwu’%.@-&/mf"m (W) .6
What are four differences between hard disk and magnetic disks? A
LAl 20 L 1 e bomit ot 0.03C Wil b I S 358 6V a0 (L)
05 ’ ‘.’ZUM/(A é’” 2’.‘.’./.4 L
A capacitor holds 0.03 Coulombs of charge when fully charged by a 6 volt battery. How much
voltage would be required for it to hold 2 Coulombs of charge?
04 Sl S St LS bt b LWL szeds Stz Uy (L)
What is solenoid? Explain with diagram the magnetic field of a solenoid, How its direction is found?
EP e ULAL i 250v Ll QL AKW A A 100W o (L)
05 I b gm L Je (i) 2 Misdz = A 1 (i) /“

A 100W lamp and a 4K'W water heater are connected to 2 250V supply. Calculate (i) The current
which flows in each appliance (ii) The resistance of each appliance when in use.
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: . S 20 .
o 138 o 145 o 130 o 140 IS T Porid| 1
210
138 days 145 days 130 days 140days | The half life of polonium ¢, Po is:
VA1 S NAd S S i S| 2
External mail Extra mail Electronic mail | Emergency mail | What does the term e-mail stand for? -
B=0LA=1| B=1,A=0 | B=0LA=0 | B=1xsA=1 :me’;x;x=A.Bf, 3

A=1orB=0| A=0orB=1| A=0orB=0| A=1&B=1 |If X=A.B,then Xis 1, when:

IS | IS AS | Lt |atbnfa g

glnkl L nKests &bz Fncriases thet The step up transformer:
Has less turns in| Has more turns | Increasesthe Inputcurren
secondary coil | inprimary coil | input voltage

S W"/buil-/: 4
v 7

.
‘ u:uu,ﬁ.;m;&,wg.géuz;wf&zv 5
60W 30W 14.5W 4.8W

What'is power rating of a lamp ?ﬂ{,/,;{&/ 2.5A
_|connected to a 12V source when it carries 2.5A?
leV IN 1 ES L -bncle1.6x107°T | 6
<o IML6x107197 is-equal to:
2 | A e e bbbt K| T
All these Electroscope | Electrostatics | Current electricity | The'study of charges at rest is called: -
A EY
440 0° 4 48.8° s St 8
The critical angle of a glass is:
10dB 100dB ’ 10-'dB _ e b fLI| 9
Zero One bel is equal to: ;
3 &, ie o) ety SIS 5L | 10
Amplitude Wavelength Period Frequency | The loudness of a sound is most closely related to its:
4 3 2 | e Fed e taftfil 1
k= T f=7 f=7F f=x If the time period is given, then frequency is
! calculated as: R
K - [z e L Ll Siritiaft| 12
T=27n.]— T=21/— T=2n|— T=2n,/= . . = ! o .
m k g VL The formula for time period of a simple pendulum is:
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10 write short answers to any FIVE parts. =& @Uﬁﬁér'ﬂé&ctjf
What are damped oscillations? Draw diagram., -é__hrlfw ?‘Lﬂ/gc' f‘."@l,‘g} (i)
Define vibration. _é ] /U/‘ﬂ Al (i)
Write any two features of simple harmonic motion. -Eg:«yr‘%(f J/JJrJrJQ‘,k" (iii)
Write two laws of refraction of light. e 54 l;’::Luig/"JJ(}%/ (iv)
Define NAND gate and write its truth table. e kA el )

SIS Glesudr sieiyy 2pe L '}.’ﬁfﬁ.ﬁﬁ (vi)
If an object is lying at 2F of a convex lens, then what will be the location of image formed? Draw diagram.

' <t 1 133 A AL 3y o0 et sl A I b Fr FESGGy i)

Find the value of critical angle for water (refracted angle = 90°).The refractive index of water is 1.33 and that of air is 1.
Write any two uses of light pipe in our daily life. -zaf.-,uw,)é_;g.:/u‘;&/',ﬁudm (viii)
10 ‘Write short answers to any FIVE parts. - ..-,u:z/’&wég.z.éf
‘What is meant by silent whistle? Write its range. ‘e tfxcj S mﬁm ?c‘..)i/l[c.g}?gjru 6]
On what factors, does the loudness of sound depend? Write any two. -é}aé/ e VK{J lfufuf'rbfuf%u&;v (ii)
Draw the diagram of variable capacitor. ~?~_lzrl/’1l5d/ Ky/ J-‘"d_/: (i)
-{.fr)*‘w}Ju&:’f-sziul ~¢-0.5m J‘UL}V/}JMKZJ?U]» -¢-100uC i SOOuCJ'ﬁ"JZA{Jl?g"UJ» (iv)

Two bodies are oppositely charged with’500uC and 100uC charge. Find the force between the two charges if the
distance between them in air is 0.5m

Draw the electric field lines for two positive point charges. &b fIM&’J}g Iééz;(;&u;f:)g” )

What is the difference between primary and secondary memories? ?c‘_J/'gufduf.’ Sl /14 (vi)
Which is more reliable for data storage, floppy disk or hard disk? ‘.'JHA‘,L‘L ﬂ’*o)&)&f{élﬁé.ﬁd’.ﬁi’ G (vii)
‘What is the difference between RAM and ROM memories? ‘-'c_u"/'l,;(wdzy{r;wlé/ (viii)
10 ‘Write short answers to any FIVE parts. -2 @W/ﬁﬁrlzlégc(jf
Define current and write its ST unit. Ay siksgE e @)
Draw labelled diagram of three resistors in series combination. _Z,&gﬁﬁd-’g‘!)/hd i{./‘_e:..‘fg }’z 2 (i)

Sty Ve piaty B L SOV Sl ke 6k Sl i)
I1 two resistors of 6kQ and 4k() are connected in series across a 10V battery, then find equivalent resistance of the
series combination.

Wha is the basic difference between electricity and magnetism? ‘-‘9[:6)(5;?. ui’ry‘z‘p-ul (ﬁ'}g 1 (iv)
State Flemings left band rule. LIRS WEE ()
Define fission reaction. ‘ -é’jb.y /Uu;g idju}; (vi)
Writ the two characteristics of Beta particles. _é ayr"’.ud’)?/&t‘_e (vii)

e (kSN pui (viid)

Cana transformer operate on direct current?

A 09 Ly fe il tivne § pig daa
Part - 11, Attempt any TWO questions. Each question carries 09 marks.

01,02 ¢ g el uf'g;yt;&;gdjﬁ@ ()
Wlat is meant by longitudinal waves? Explain it with the help of diagram.

0s “«fﬁgm"gf id?/ & SE '/{c‘_/.lx.éidl{':lgff)'d{f;@ z lé()'z'..m.‘/_._g 20cm L//{g:.g (&)

" Anobject and its image in a concave mirror are of the same height, yet inverted, when the object is

20cm from the mirror. What is the focal length of the mirror?

-g:(uy.:/;ziJ&M&ﬂéuJu)%ﬂ( )
Weh at least two examples, give the importance cif acoustics in detail. ,
Sl E e &2 bttty L 100uC T g I 10° B §H ety fie WD (L)
0s eyt e
Th electric potential at a point in an electric field is1(# V. If a charge of 100uC is brought from
ininity to this point, what would be the amount of work done on iE? A
01 .o=y -g,{cou,c,rv@uw ?c"_d/r(b/d-; e s (D
Wt is relay? How does it work? Explain with (iircuit diagram. /
0s Lt gde i SR T AR 100V 2SI AL e 10MQ PP ()
Te resistance of a conductor wire is LOMQ. If a potential difference of 100 volts is applied
a0ss its ends, then find the value of current passing through it in mA. //
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